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NEW QUESTION 1
- (Exam Topic 1)
Which of the following DNS record types is an alias?

A. CNAME
B. PTR
C. NS
D. SRV

Answer: A

NEW QUESTION 2
- (Exam Topic 1)
A network technician configures a firewall’s ACL to allow outgoing traffic for several popular services such as email and web browsing. However, after the
firewall’s deployment, users are still unable to retrieve their
emails. Which of the following would BEST resolve this issue?

A. Allow the firewall to accept inbound traffic to ports 25, 67, 179, and 3389
B. Allow the firewall to accept inbound traffic to ports 80, 110, 143, and 443
C. Set the firewall to operate in transparent mode
D. Allow the firewall to accept inbound traffic to ports 21, 53, 69, and 123

Answer: B

NEW QUESTION 3
- (Exam Topic 1)
A new building needs to be joined to an existing network, but management has decided that running fiber is too expensive. Since the buildings are bout 1000ft
(305m) apart, the IT department has been asked to propose alternatives. Which of the following is the BEST device to add to each building to facilitate the
extension of the network while meeting budgetary demands?

A. Switch
B. Router
C. Media converter
D. PTP wireless

Answer: D

NEW QUESTION 4
- (Exam Topic 1)
A network technician is troubleshooting an issue and has established a theory of probable cause. Which of the following steps should the network technician take
NEXT?

A. Test the possible solution
B. Question the users
C. Determine what has changed
D. Document the theory

Answer: A

NEW QUESTION 5
- (Exam Topic 1)
A technician is installing a new wireless badging system on a hospital network. The requirements of the badging system are for it to have its own SSID and low
power levels. The badging system has to cover 99.9% of the hospital. Which of the following is the BEST action to take to meet the system requirements?

A. Install additional WAPs
B. Install external antennas
C. Move the WAPs closer to the more populated area
D. Change the antenna types

Answer: A

NEW QUESTION 6
- (Exam Topic 1)
Users are reporting Internet connectivity issues. The network administrator wants to determine if the issues are internal to the company network or if there is an
issue with the ISP. Which of the following tools should be used to BEST determine where the outage is occurring?

A. traceroute
B. ping
C. nslookup
D. netstat

Answer: A

NEW QUESTION 7
- (Exam Topic 1)
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A technician must determine if a web page user’s visits are connecting to a suspicious website’s IP address in the background. Which of the following tools would
provide the information on TCP connections?

A. netstat
B. tracert
C. arp
D. ipconfig
E. route

Answer: A

NEW QUESTION 8
- (Exam Topic 1)
Which of the following protocols are classified as connectionless? (Select TWO)

A. TFTP
B. FTP
C. HTTP
D. SNMP
E. SSH
F. IMAP

Answer: AD

Explanation: 
Trivial FTP (TFTP) is a connectionless file transfer program.

NEW QUESTION 9
- (Exam Topic 1)
A technician is sent to a remote office to set up a device to connect to the internet. The company Standard
document requires stateful inspection.
Which of the following should the technician install?

A. ROUTER
B. Multilayer switch
C. Firewall
D. Bridge

Answer: C

NEW QUESTION 10
- (Exam Topic 1)
A critical vulnerable is discovered on a network device. The vendor state it has already patched this vulnerable in its current release. Which of the following actions
should an administrator take?

A. Change the default password.
B. Use a firewall in front of the device.
C. Update the firmware.
D. Upgrade the configuration.

Answer: B

NEW QUESTION 10
- (Exam Topic 1)
A critical vulnerability is discovered on a network device. The vendor states it has already patched this vulnerability in its current release. Which of the following
actions should an administrator take?

A. Change the default password
B. Use a firewall in front of the device.
C. Update the firmware.
D. Upgrade the configuration.

Answer: C

NEW QUESTION 15
- (Exam Topic 1)
A network administrator receives a call from the sales department requesting ports 20 and 21 be opened on the company’s firewall to allow customers to retrieve
a large file. Which of the following should the administrator perform BEFORE making the needed changes? (Choose two.)

A. Document the reason for the request
B. Scan the file for malware to protect the sales department’s computers
C. Follow the company’s approval process for the implementation
D. Install a TFTP server for the customers to use for the transfer
E. Create a honeypot to store the file on for the customers to use
F. Write the SLA for the sales department authorizing the change

Answer: AC
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NEW QUESTION 18
- (Exam Topic 1)
A technician discovers that multiple switches require a major update. Which of the following policies should be followed?

A. Change management policy
B. Remote access policy
C. Acceptable use policy
D. Memorandum of understanding

Answer: A

NEW QUESTION 22
- (Exam Topic 1)
A company has two geographically separate locations that need to connect using a VPN. Which of the following devices must be specifically configured to allow
VPN traffic into the network?

A. Firewall
B. Switch
C. Router
D. Modem

Answer: A

NEW QUESTION 25
- (Exam Topic 1)
A network technician has to integrate three legacy industrial devices into the existing wireless network. The devices only support 802.11b and TKIP. Which of the
following should the technician do to connect these devices to the wireless network with the restrictive settings while not affecting the performance of the other
users? (Select Two).

A. Create a second SSID that uses WPA personal.
B. Change the encryption to WPA@ personal.
C. Enable MAC filtering.
D. Change the encryption to WPA2 Enterprise.

Answer: D

NEW QUESTION 27
- (Exam Topic 1)
Management has requested that services be available within 72 hours of disaster, Budget is a major concern. A contract is signed with a company that has plenty
space, and the technician will have the option of putting infrastructure equipment in place. Which of the following BEST describes this business continuity strategy?

A. Cold site
B. Differentiate backup
C. Hot site
D. Incremental backup
E. Warm site
F. Full backup

Answer: A

NEW QUESTION 29
- (Exam Topic 1)
A company recently upgraded all of its printers to networked multifunction devices. Users can print to the new devices, but they would also like the ability to scan
and fax files from their computers. Which of the following should the technician update to allow this functionality?

A. Device software
B. Printer drivers
C. Printer firmware
D. NIC drivers

Answer: C

NEW QUESTION 32
- (Exam Topic 1)
Which of the following storage network technologies inherently leverages block-level storage?

A. NAS
B. SAN
C. FCoE
D. iSCSI
E. FTP

Answer: A

NEW QUESTION 37
- (Exam Topic 1)
A network administrator would like to collect information from several networking devices using SNMP. Which of the following SNMP options should a network
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administrator use to ensure the data transferred is confidential?

A. authpriv
B. SHA
C. MD5
D. Authentication passphrase

Answer: A

NEW QUESTION 39
- (Exam Topic 1)
A network technician is creating a new subnet for 488 host machines. The technician is told to use a class B address scheme when making the subnet and is
instructed to leave as much room as possible for additional subnets of the same size. Which of the following subnets would fulfill these requirements?

A. 10.5.4.0/22
B. 10.233.2.0/23
C. 172.16.0.0/22
D. 172.18.0.0/23
E. 192.168.25.0/24

Answer: D

NEW QUESTION 41
- (Exam Topic 1)
A network administrator is testing connectivity at a new corporate site. The site has a wireless guest as well as a wired employee network. After verifying
connectivity, the administrator checks link speeds by using a speed testing website. The speed testing website shows lower download and upload speeds for the
wired network than the wireless network. Which of the following is the MOST likely explanation?

A. There is less local congestion on the wireless network
B. The testing server for the wired network was farther away
C. The firewall is configured to throttle traffic to specific websites
D. The wireless access points were misconfigured

Answer: B

NEW QUESTION 42
- (Exam Topic 1)
A technician is observing brownout issue at a smaller office. At least once a week, the edge switch power cycles. Which of thy following should the technician do to
resolve the issue?

A. Install a new switch.
B. Install a UPS.
C. Replace the switch uplink cable.
D. Install a new electrical circuit.

Answer: B

NEW QUESTION 47
- (Exam Topic 1)
A company has hundreds of nodes on a single subnet and has decided to implement VLANs. Which of the following BEST describes the benefit of this approach?

A. It segments broadcast domains in the network infrastructure
B. It provides a faster port to all servers
C. It provides multiple collision domains on one switchport
D. It provides multiple broadcast domains within a single collision domain

Answer: A

NEW QUESTION 49
- (Exam Topic 1)
A company has completed construction of a new datacenter, and the IT staff is now planning to relocate all server and network equipment from the old site to the
new site. Which of the following should the IT staff reference to determine the location of the equipment being moved?

A. Rack diagrams
B. Network topology
C. Standard operating procedures
D. Wiring documentation

Answer: A

NEW QUESTION 53
- (Exam Topic 1)
AContent filter is set to analyze XML and JSON that users access from the internet. At which of the following layer’s is this analysis taking place?

A. 1
B. 3
C. 5
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D. 7
E. 6

Answer: E

NEW QUESTION 55
- (Exam Topic 1)
A network technician has salvaged several Ethernet cables from a datacenter. The technician attempts to use the cables to connect desktops to the network
without success. Which of the following is MOST likely the issue?

A. The cables have an incorrect pin-out.
B. The cables are UTP instead of STP.
C. The cables are Cat 6 instead of Cat 5.
D. The cables are not plenum rated.

Answer: A

NEW QUESTION 57
- (Exam Topic 1)
A network technician is troubleshooting wireless network issues in a crowded office complex and suspects there is interference from nearby wireless networks.
Which of the following should the technician perform to discover possible interference?

A. Site survey
B. Vulnerability scanning
C. Wardriving
D. Checking logical diagram
E. Bandwidth test

Answer: A

NEW QUESTION 61
- (Exam Topic 1)
Which of the following are characteristic of jumbo frames? (Select TWO).

A. Commonly used on SAN
B. MTU size greater than 1500
C. MTU size greater than 10000
D. Commonly used on laaS
E. MTU size greater that 12000

Answer: BD

NEW QUESTION 62
- (Exam Topic 1)
In which of the following scenarios should a technician use a cross-over cable to provide connectivity?

A. PC to switch
B. Switch to AP
C. Router to switch
D. Router to modem
E. PC to PC

Answer: E

NEW QUESTION 64
- (Exam Topic 1)
A network technician is adding workstation to the enterprise network. After bringing the PCs online. The technician receives reports from random users that they
cannot log on. The technician checks and finds everything is functioning for most users. Which of the following is MOST likely causing the problem?

A. Exhausted DHCP scope
B. DNS resolving
C. Duplicate Mac address
D. Incorrect ACL entry

Answer: C

NEW QUESTION 69
- (Exam Topic 1)
A technician is working on a new machine that has been procured for testing and development. The machine will run a hypervisor and host several operating
systems of various types so the development team can test the company’s applications in a variety of environments. The technician wants the virtual machines to
be available to communicate with each other without leaving the hypervisor. Which of the following is the BEST solution to the problem?

A. The technician should connect the machine to its own separate switch.
B. The technician should add a route in each virtual machine to the default gateway.
C. The technician should configure a virtual switch.
D. The technician should set up individual routes between the machines.
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Answer: C

NEW QUESTION 70
- (Exam Topic 1)
The security manager reports that individual systems involved in policy or security violations or incidents cannot be located quickly. The security manager notices
the hostnames all appear to be randomly generated characters. Which of the following would BEST assist the security manager identifying systems involved in
security incidents?

A. Enforce port security to require system authentication
B. Implement a standardized UNC
C. Label existing systems with current hostnames
D. Forward the DHCP logs to the security manager every day

Answer: B

NEW QUESTION 74
- (Exam Topic 1)
A network engineer arrives at work and discovers that many users are having problems when attempting to connect to the company network shared drives. The
network operations center (NOC) technician just completed server upgrades the night before. To which of the following documents should the NOC technician
refer to determine what potentially caused the connectivity problem?

A. Network maps
B. Cable management
C. Release notes
D. Change management

Answer: D

NEW QUESTION 77
- (Exam Topic 1)
Which of the following devices should a network administrator configure on the outermost part of the network?

A. Media converter
B. Switch
C. Modem
D. Firewall

Answer: D

NEW QUESTION 79
- (Exam Topic 1)
A technician is configuring a printer for a client. The technician connects the printer to the network, but is unsure how to determine its switchport. Which of the
following should the technician do FIRST to locate the
switchport?

A. Perform a DNS lookup on the server.
B. Set up an SSH session to the desktop.
C. Reference the ARP table in the router.
D. Configure port security on the switch.

Answer: C

NEW QUESTION 80
- (Exam Topic 1)
After a server outage, a technician discovers that a physically damaged fiber cable appears to be the problem. After replacing the cable, the server will still not
connect to the network. Upon inspecting the cable at the server end, the technician discovers light can be seen through one of the two fiber strands. Which of the
following should the technician do FIRST to reconnect the server to the network?

A. Reverse the fiber strands of the cable and reconnect them to the server
B. Use a TDR to test both strands of a new replacement cable prior to connecting it to the server
C. Replace the server’s single-mode fiber cable with multimode fiber
D. Move the fiber cable to different port on the switch where both strands function

Answer: A

NEW QUESTION 81
- (Exam Topic 1)
Ann, a network technician, has just installed a fiber switch in a datacenter. To run the fiber cabling, Ann plans the cable route over the top of the rack using the
cable trays, down to the switch, coiling up any excess cable. As Ann configures the switch, she notices several messages in the logging buffer stating the receive
signal of the SFP is too weak. Which of the following is MOST likely the cause of the errors in the logging buffer?

A. Bend radius exceeded
B. Fiber cable mismatch
C. Fiber type mismatch
D. Bad fiber switch

Answer: A
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NEW QUESTION 82
- (Exam Topic 1)
A network administrator wants to increase the confidentiality of the system by hardening the authentication process. Currently, the users log in using usernames
and passwords to access the system. Which of the following will increase the authentication factor to three?

A. Adding a fingerprint reader to each workstation and providing a RSA authentication token
B. Adding a fingerprint reader and retina scanner
C. Using a smart card and RSA token
D. Enforcing a stronger password policy and using a hand geometry scan

Answer: A

NEW QUESTION 87
- (Exam Topic 1)
A network administrator wants to employ a username and password authentication system for guest WiFi. Which of the following is the BEST option to provide this
type of authentication?

A. port security
B. MAC filtering
C. Network access control
D. Captive portal

Answer: D

NEW QUESTION 92
- (Exam Topic 1)
Which of the following protocols do MOST MITM attacks utilize?

A. ARP
B. SIP
C. FTP
D. SCP

Answer: A

NEW QUESTION 93
- (Exam Topic 1)
A network technician is able to connect the switches between to offices, but the offices cannot communicate with each other, as each office uses a different IP
addressing scheme. Which of the following devices needs to be installed between the switches to allow communication?

A. Bridge
B. Access point
C. Router
D. Range extender

Answer: C

NEW QUESTION 96
- (Exam Topic 1)
A technician is investigating a server performance issue. The technician has gathered the server utilization statistics. Which of the following should the technician
use to determine which statistics are not in the normal range?

A. Baseline review
B. Vulnerability scan
C. System life-cycle report
D. Archiving logs

Answer: A

NEW QUESTION 97
- (Exam Topic 1)
A network technician notices the site-to site VPN and internet connection have back up at a branch office’ after a recent power outage. Which of the following is an
out-of-band method the technician the would MOST likely utilize to check the branch office’s router status?

A. Use a modern to console into router.
B. Walk to the branch troubleshooting the connection.
C. Travel to the branch office.
D. Hire a contractor to go on-site.

Answer: B

NEW QUESTION 98
- (Exam Topic 1)
As part of a transition from a static to a dynamic routing protocol on an organization’s internal network, the routing protocol must support IPv4 and VLSM. Based
on those requirements, which of the following should the network administrator use? (Choose two.)
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A. OSPF
B. IS-IS
C. RIPv1
D. BGP
E. VRRP

Answer: AB

NEW QUESTION 101
- (Exam Topic 1)
Which of the following is used to classify network data for the purpose of providing QoS?

A. STP
B. VLANs
C. SIP
D. DSCP

Answer: D

NEW QUESTION 103
- (Exam Topic 1)
Which of the following VPN protocols establishes a secure session that can be initiated using a browser?

A. IPSec
B. SSL VPN
C. PTP
D. PPTP

Answer: B

NEW QUESTION 108
- (Exam Topic 1)
A customer is reporting difficulty connecting some devices after replacing a wireless router with a new wireless 802.11ac router. The SSID, encryption and
password are the same as the previous router. A technician goes on-site and notices the devices that are no longer connecting appear to be several years ago.
Which of the following is MOST likely the problem?

A. the password needs to be re-entered.
B. there is a security type mismatch.
C. there is insufficient antenna power.
D. there is a frequency mismatch.
E. the channel has changed.

Answer: D

NEW QUESTION 113
- (Exam Topic 1)
A switch has detected duplicate broadcast messages sourced from a second port. The broadcasts continue to be transmitted and duplicated until the amount of
traffic causes severe performance issues. Which of the following should be configured to prevent this behavior?

A. BPDU guard
B. DHCP snooping
C. ARP protection
D. Spanning tree

Answer: D

NEW QUESTION 116
- (Exam Topic 1)
Which of the following DNS record types allows IPv6 records to be resolved to DNS names?

A. PTR
B. A
C. AAAA
D. SRV

Answer: C

NEW QUESTION 118
- (Exam Topic 1)
AChief Information Officer (CIO) wants to move some IT services to a cloud service offering. However, the network administrator still wants to be able to control
some parts of the cloud service’s networking components. Which of the following should be leveraged to complete this task?

A. IaaS
B. PaaS
C. SaaS
D. DaaS
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Answer: B

NEW QUESTION 120
- (Exam Topic 1)
Which of the following WAN technologies provides a guaranteed throughput rate?

A. DSL
B. T-1
C. Cable broadband
D. Dial-up

Answer: B

NEW QUESTION 125
- (Exam Topic 1)
A technician is trying to configure a previously owned WAP. The technician successfully logs into the administrative console and attempts to input the IP address
on the WAP. However, the WAP is not accepting the command. Which of the following is causing the problem?

A. The WAP antenna is damaged
B. The WAP transmitter light is dim
C. The terminal emulation software is misconfigured
D. The LWAPP image is installed on the WAP

Answer: C

NEW QUESTION 126
- (Exam Topic 1)
A chief information Officer (CIO) tasks the network engineer with protecting the network from outside attacks. Placing which of the following devices on the network
perimeter would provide the MOST security for the system?

A. Firewall
B. NGFW
C. Content filter
D. IDS/PS

Answer: B

NEW QUESTION 129
- (Exam Topic 1)
Which of the following is networking stand-alone hardware that will permit any WIFI-compliant to connect to a wired network?

A. Wireless hub
B. Wireless firewall
C. Wireless access point
D. Wireless bridge

Answer: C

NEW QUESTION 134
- (Exam Topic 1)
Client PCs are unable to receive addressing information from a newly configured interface on a router. Which of the following should be added to allow the clients
to connect?

A. DHCP lease me
B. IP helper
C. TTL
D. DNS record type

Answer: B

NEW QUESTION 136
- (Exam Topic 1)
A technician logs onto a system using Telnet because SSH is unavailable. SSH is enabled on the target device, and access is allowed from all subnets. The
technician discovers a critical step was missed. Which of the following would allow SSH to function properly?

A. Perform file hashing
B. Generate new keys
C. Update firmware
D. Change default credentials

Answer: B

NEW QUESTION 138
- (Exam Topic 1)
A network technician has created a network that consists of a router, a firewall, a switch, and several PCs. Which of the following physical network topologies was
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created?

A. Star
B. Mesh
C. Ring
D. Bus

Answer: D

NEW QUESTION 139
- (Exam Topic 1)
A network technician is considering opening ports on the firewall for an upcoming VoIP PBX implementation. Which of the following protocols is the technician
MOST likely to consider? (Choose three.)

A. SIP
B. NTP
C. H.323
D. SMB
E. ICMP
F. RTP
G. IPSec
H. RDP

Answer: ACF

NEW QUESTION 143
- (Exam Topic 1)
Which of the following networking devices operates at Layer1?

A. Router
B. Firewall
C. Hub
D. Bridge

Answer: C

NEW QUESTION 145
- (Exam Topic 1)
An engineer is reviewing the implementation requirements for an upcoming project. The basic requirements identified by the customer include the following:

 WLAN architecture supporting speeds in excess of 150 Mbps
 Clientless remote network access
 Port-based network access control

Which of the following solution sets properly addresses all of the identified requirements?

A. 802.11a, IPSec VPN, 802.1x
B. 802.11ac, MPLS, 802.3
C. 802.11b, PPTP, 802.1x
D. 802.11g, MS-CHAP, 802.16
E. 802.11n, SSL-VPN, 802.1x

Answer: E

NEW QUESTION 147
- (Exam Topic 1)
Which of the following devices, if implemented, would result in decreased administration time of an 802.11 network running centralized authentication services?
(Choose two.)

A. VPN concentrator
B. Proxy server
C. Wireless controller
D. RADIUS server
E. Multilayer switch

Answer: CD

NEW QUESTION 148
- (Exam Topic 1)
Users are reporting their network is extremely slow. The technician discovers pings to external host have excessive response times. However, internal pings to
printers and other PCs have acceptable response times. Which of the following steps should the technician take NEXT?

A. Determine if any network equipment was replaced recently
B. Verify malware has not disabled the users’ PC firewalls
C. Replace users’ network cables with known-good network cables
D. Power cycle the web server

Answer: A
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NEW QUESTION 152
- (Exam Topic 1)
Users in a school lab are reporting slow connections to the servers and the Internet. Other users in the school have no issues. The lab has 25 computers and is
connected with a single 1Gb Ethernet connection on Cat 5e wiring to an unmanaged switch. There are also three spare Cat 5e cable runs, which are not in use.
The school wants to double the connection speed between the lab and the servers without running new cables. Which of the following would be the BEST
solution?

A. Plug in a second spare cable at each end to double the speed.
B. Replace the switches with ones that utilize port bonding and use the spare cables.
C. Replace the switches with 10Gb switches and utilize the existing cabling.
D. Plug in a second cable and set one port to TX and one port to RX.

Answer: B

NEW QUESTION 156
- (Exam Topic 1)
A technician is planning a remote-access strategy to manage routers and switches on a dedicated management network. The management network is segregated
from the production network and uses site-to-site VPN connections. Some of the equipment does not support encryption. Which of the following should the
technician choose that all the equipment would support?

A. Telnet
B. SSL
C. SSH
D. IPSec

Answer: A

NEW QUESTION 160
- (Exam Topic 1)
Which of the following would allow a network technician to access files on a remote system? (Select TWO).

A. FTP
B. TFTP
C. VLSM
D. SIP
E. SMTP
F. IMAP

Answer: AB

NEW QUESTION 161
- (Exam Topic 1)
An administrator is moving to a new office. There will be several network runs through the ceiling area of the office. Which of the following is the BEST to utilize in
these areas?

A. Single-mode fiber-optic cabling
B. Cat 5e-rated cabling
C. Cat 6-rated cabling
D. Plenum-rated cabling

Answer: D

NEW QUESTION 163
- (Exam Topic 1)
A technician notices clients are receiving a 169.254.x.x IP address following the upgrade of a server. Which of the following ports should the technician check on
the local server firewall?

A. ports 20 and 21
B. ports 67 and 68
C. ports 80 and 443
D. port 123 and 8080

Answer: B

NEW QUESTION 165
- (Exam Topic 1)
Which of the following physical security controls is MOST likely to be susceptible to a false positive?

A. Identification card
B. Biometric device
C. Proximity reader
D. Video camera

Answer: C

NEW QUESTION 168
- (Exam Topic 1)
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Which of the following will listen on the line to ensure there is no traffic transmitting and implement a back-off timer if a collision occurs?

A. CSMA/CD
B. CSMA/CA
C. MPLS
D. OSPF

Answer: A

NEW QUESTION 170
- (Exam Topic 1)
A single PRI can deliver multiple voice calls simultaneously using which of the following Layer 1 technologies?

A. Time division multiplexing
B. Analog circuit switching
C. CSMA/CD
D. Time division spread spectrum

Answer: A

NEW QUESTION 175
- (Exam Topic 1)
A technician wants to deploy a network that will require wireless client devices to prompt for a username and password before granting access to be the wireless
network. Which of the following must be configured to implement this solution?

A. EAP-PEAP
B. CCMP-AES
C. WPA2-PSK
D. TKIP-RC4

Answer: A

NEW QUESTION 180
- (Exam Topic 2)
Lisa, a technician, is asked to not allow FTP traffic on a network. Which of the following ports should be blocked on the firewall to achieve this?

A. 21
B. 22
C. 23
D. 25

Answer: A

NEW QUESTION 181
- (Exam Topic 2)
A network technician is configuring a wireless network. To avoid interference from other wireless networks in the area, the technician should change which setting?

A. Channel
B. SSID
C. Firewall rule
D. Encryption

Answer: A

NEW QUESTION 182
- (Exam Topic 2)
Which of the following is a secure way to connect to a device?

A. RSH
B. TFTP
C. SNMPv2
D. SFTP

Answer: D

NEW QUESTION 184
- (Exam Topic 2)
A company wants to only allow incoming HTTP and HTTPS traffic on their public wireless network. Which of the following port numbers should be the only allowed
open ports on the firewall to accomplish this? (Select TWO).

A. 20
B. 80
C. 143
D. 443
E. 8080

Answer: BD
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NEW QUESTION 185
- (Exam Topic 2)
Which of the following cables will MOST likely be used to connect to a satellite dish?

A. RG-6
B. CAT5e
C. Fiber
D. CAT6

Answer: A

NEW QUESTION 189
- (Exam Topic 2)
Which of the following ports would have to be allowed through a firewall to allow SNMP traffic to pass on its default port? (Select TWO).

A. 22
B. 23
C. 143
D. 161
E. 162
F. 8080

Answer: DE

NEW QUESTION 190
- (Exam Topic 2)
Jeff, a network engineer, is troubleshooting an issue where clients are not receiving IP addresses from a new, properly configured DHCP server on another
subnet. Statically addressed clients can get onto the same network with no issues. Which of the following is causing the issue?

A. Incorrect VLAN tagging
B. Missing helper addresses
C. Wrong default gateway
D. Improper routing protocols

Answer: B

NEW QUESTION 193
- (Exam Topic 2)
Which of the following uses eight groups of characters for addressing?

A. MAC
B. IPv4
C. IPv6
D. DHCP

Answer: C

NEW QUESTION 198
- (Exam Topic 2)
Kurt, a network technician, has configured a new firewall on the network. Users are reporting errors when attempting to access several websites. Kurt attempts to
access several popular websites with no errors, however, he does receive an error when attempting to access a bank website. Which of the following rules would
BEST allow access to the bank website?

A. Allow UDP port 53
B. Allow TCP port 80
C. Allow UDP port 340
D. Allow TCP port 443

Answer: D

NEW QUESTION 202
- (Exam Topic 2)
Which of the following is a purpose of a VLAN?

A. Decreases bandwidth on a network
B. Segments broadcast traffic
C. Increases port speed
D. Allows another connection to the router

Answer: B

NEW QUESTION 206
- (Exam Topic 2)
Which of the following operates at OSI layer 2 to forward traffic based on the MAC address?

A. Switch
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B. Proxy Server
C. Router
D. VPN Concetnrator

Answer: A

NEW QUESTION 209
- (Exam Topic 2)
Which of the following protocols would Kurt, a technician, use to synchronize local date and time of a client workstation to that of a server?

A. RTP
B. NTP
C. TFTP
D. ARP

Answer: B

NEW QUESTION 213
- (Exam Topic 2)
After plugging a cable into a computer, a user reports there is no network access. Which of the following tools would the technician MOST likely check to verify that
the cable was crimped correctly?

A. Punch down tool
B. Cable certifier
C. Loopback plug
D. Toner probe

Answer: B

NEW QUESTION 217
- (Exam Topic 2)
A company has a large number of employees that need VPN access from home. Which of the following is the BEST solution for deploying and managing the
remote access?

A. Site-to-site VPN
B. Network-based firewall
C. SSL VPN
D. Host-based firewall

Answer: C

NEW QUESTION 220
- (Exam Topic 2)
Which of the following cables is MOST likely to be terminated into a patch panel?

A. Serial
B. RG-6
C. RG-59
D. CAT6

Answer: D

NEW QUESTION 221
- (Exam Topic 2)
A user is unable to open up websites on the Internet from a browser. The administrator determines that the workstation can ping its local gateway, but not the
remote web server. At which of the following layers of the OSI model does the problem MOST likely exist?

A. Data link
B. Network
C. Session
D. Physical

Answer: B

NEW QUESTION 225
- (Exam Topic 2)
An organization has installed a new firewall. Users need to have access to remote websites and must be able to use SSH to retrieve files from remote locations.
Which of the following actions should be taken on the new firewall? (Select TWO).

A. Allow UDP port 21 outbound
B. Allow UDP port 22 outbound
C. Allow UDP port 80 outbound
D. Allow TCP port 21 outbound
E. Allow TCP port 22 outbound
F. Allow TCP port 80 outbound

Answer: EF
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NEW QUESTION 229
- (Exam Topic 2)
A technician discovers that a malware infection has damaged part of the Windows TCP/IP stack. Which of the following commands can help repair the damage?

A. netsh lan
B. netsh interface
C. netsh wlan
D. netsh winsock

Answer: D

NEW QUESTION 231
- (Exam Topic 2)
An administrator is receiving reports from an executive that the executive's wireless access point loses the signal frequently, even though the WAP is on the
executive's desk. The office contains four other 802.11n access points. Which of the following would MOST likely correct interference problems in the executive's
office?

A. Turn off SSID broadcasting for the executive's access point
B. Replace the 802.11n access point in the office with an 802.11a access point.
C. Change the channel on the access point to channel 11.
D. Turn off as many lights in the executive's office as possible to reduce interference.

Answer: C

NEW QUESTION 232
- (Exam Topic 2)
Please refer to the attached exhibit. Which of the following types of configuration management documentation is represented?

A. Network security policy
B. Network baseline
C. Logical network diagram
D. Wiring schematic

Answer: C

NEW QUESTION 237
- (Exam Topic 2)
Which of the following is an invalid MAC address?

A. AA:CE:58:FD:90:08
B. 44:98:3E:F8:33:23
C. 56:AD:BX:89:55:54
D. 94:9E:FE:EE:8C:DF

Answer: C

NEW QUESTION 241
- (Exam Topic 2)
Which of the following WAP security features offers the STRONGEST encryption?
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A. WPA
B. WPA2
C. WEP
D. Hidden SSID

Answer: B

NEW QUESTION 244
- (Exam Topic 2)
A username provides which of the following?

A. Biometrics
B. Identification
C. Authorization
D. Authentication

Answer: B

NEW QUESTION 248
- (Exam Topic 2)
A firewall that operates at Layer 7 of the OSI model is known as a(n):

A. Circuit gateway
B. Packet filter
C. Application level
D. Redundant firewall

Answer: C

NEW QUESTION 251
- (Exam Topic 2)
Which of the following protocols uses port 3389?

A. IMAP
B. DHCP
C. SSH
D. RDP

Answer: D

NEW QUESTION 254
- (Exam Topic 3)
A national cable company providing TV, telephone, and Internet service to home users over its IP network, has been tracking a large increase of network
bandwidth due to P2P file sharing. Which of the following should the company deploy to ensure excellent TV and telephone service?

A. QoS
B. Load balancing
C. High availability
D. Fiber optics

Answer: A

NEW QUESTION 259
- (Exam Topic 3)
Which of the following would Kim, a technician, do to monitor remote traffic through an access point?

A. Enable an SNMP agent
B. Enable network mapping
C. Set monitoring SSID
D. Select WPA2

Answer: A

NEW QUESTION 264
- (Exam Topic 3)
A network administrator notices that all of the company switches are running at capacity on a given day, which is abnormal according to network baselines taken
recently. Which tool would BEST allow the administrator to inspect what type of traffic is on the network?

A. Wire tap
B. Network sniffer
C. Load balancing appliance
D. NIPS

Answer: B

NEW QUESTION 267
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- (Exam Topic 3)
Which of the following problems is MOST likely to arise when configuring an IPv6 over IPv4 tunnel?

A. Routing loop
B. MTU black hole
C. Framing errors
D. SYN flood

Answer: B

NEW QUESTION 270
- (Exam Topic 3)
Workstations are unable to access the Internet after a recent power outage. Configure the appropriate devices to ensure ALL workstations have Internet
connectivity.
Instructions: All ports can be enabled (green) or disabled (red). When you have completed the simulation please select the Done button.

A. Mastered
B. Not Mastered

Answer: A

Explanation: 
All ports should be enabled.

NEW QUESTION 272
- (Exam Topic 3)
A customer has not been using security on a wireless network and has recently received many attacks through this vector.
Which of the following would be the MOST secure way to harden this wireless network?

A. Disable the SSID
B. WPA encryption
C. VLAN implementation
D. WEP encryption

Answer: B

NEW QUESTION 277
- (Exam Topic 3)
When Jeff, a technician, is troubleshooting a problem, which of the following is the NEXT step after verifying full system functionality?

A. Establish a plan of action to resolve the problem and identify potential effects.
B. Implement the solution.
C. Establish a theory of probable cause.
D. Document findings, actions, and outcomes.

Answer: D

NEW QUESTION 281
- (Exam Topic 3)
Which of the following DNS records allows for reverse lookup of a domain?

A. PTR
B. AAAA
C. A
D. MX

Answer: A

NEW QUESTION 284
- (Exam Topic 3)
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Which of the following layers of the OSI model is between the Data Link and Transport layers?

A. Application
B. Session
C. Network
D. Physical

Answer: C

NEW QUESTION 288
- (Exam Topic 3)
Which of the following cloud infrastructure designs includes on premise servers utilizing a centralized syslog server that is hosted at a third party organization for
review?

A. Hybrid
B. Public
C. Community
D. Private

Answer: A

NEW QUESTION 290
- (Exam Topic 3)
Lisa, a network technician, needs to introduce a few more cables to the existing patch panel. Which of the following tools would she use?

A. OTDR
B. Multimeter
C. Punch down tool
D. Temperature monitor

Answer: C

NEW QUESTION 293
- (Exam Topic 3)
A technician needs to verify an Ethernet run is functioning properly. Which of the following tools should be used?

A. Protocol analyzer
B. Crimper
C. Cable tester
D. Punch down tool

Answer: C

NEW QUESTION 296
- (Exam Topic 3)
Which of the following 802.11n features allows for the use of multiple simultaneous frequencies in order to increase usable bandwidth?

A. Channel bonding
B. MIMO
C. Spartial reuse
D. 20MHz channel spacing

Answer: A

NEW QUESTION 301
- (Exam Topic 3)
A user is unable to connect to a server in another building. A technician is troubleshooting the issue and determines the following:
1) Client PC 1 has an IP address if 192.168.10.25/25
2) PC 1 can successfully ping its gateway of 192.168.10.1/25 which is an interface of router A
3) Server A is named 'BLDGBFILESRVR01' and has an IP address of 192.168.10.145/25
4) PC 2 with an IP address of 192.168.10.200/25 can successfully ping server A
However, when PC 1 pings server A, it receives a destination host unreachable responds. Which of the following is the MOST likely cause?

A. Link from touter A to PC 1 are on different subnets
B. Link from router A to server A is down
C. Link from PC 1 to router A has duplex issues
D. Link from server A top PC 2 is down

Answer: A

NEW QUESTION 302
- (Exam Topic 3)
An administrator is setting up a secure wireless network. The administrator decides to support 802.11n and 802.11g with a WPA2 pre-shared key. Users are given
the SSID with the pre-shared key, but the administrator has disabled the SSID broadcast and MAC filtering. Some users have reported connection issues. Which
of the following would MOST likely resolve the users' connection issues?

A. Limit the devices to 802.11n only.
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B. Enable the SSID broadcast.
C. Enable MAC filtering.
D. Use a WEP 128-bit key.

Answer: B

NEW QUESTION 304
- (Exam Topic 3)
Which of the following protocols are used for accessing a command line terminal session for management purposes? (Select TWO).

A. Telnet
B. FTP
C. SNMP
D. SSH
E. RDP

Answer: AD

NEW QUESTION 306
- (Exam Topic 3)
A network technician is troubleshooting intermittent issues with VoIP call quality. A throughput tester can help assess the functionality of which of the following?

A. LLDP
B. VLAN tagging
C. QoS
D. SIP trunking

Answer: C

NEW QUESTION 309
- (Exam Topic 3)
You have been tasked with testing a CAT5e cable. A summary of the test results can be found on the screen. Step 1: Select the tool that was used to create the
cable test results.
Step 2: Interpret the test results and select the option that explains the results. After you are done with your analysis, click the 'Submit Cable Test Analysis' button.
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A. Mastered
B. Not Mastered

Answer: A

Explanation: 
ACable Certifier provides “Pass” or “Fail” information in accordance with industry standards but can also show detailed information when a “Fail” occurs. This
includes shorts, the wire pairs involved and the distance to the short. When a short is identified, at the full length of the cable it means the cable has not been
crimped correctly.

NEW QUESTION 311
- (Exam Topic 3)
A technician replaces a customer's router, and is now unable to ping the ISP's gateway. Which of the following should the technician check?

A. The arp table of the new customer's router.
B. The route table of the next-hop router.
C. The route table of the new customer's router.
D. The arp table of a network user.

Answer: C

NEW QUESTION 315
- (Exam Topic 3)
Which of the follow creates a secure remote connection at the OSI network layer?

A. L2TP
B. SSL
C. DTLS
D. IPSec

Answer: D

NEW QUESTION 319
- (Exam Topic 3)
Lisa, a user, reports increased delays and timeouts when trying to reach several Internet sites. Which of the following would MOST likely be used when
investigating the problem at Lisa's workstation?

A. nslookup
B. route
C. nbtstat
D. arp

Answer: A

NEW QUESTION 324
- (Exam Topic 3)
Which of the following media types can carry a standard Ethernet signal for network connectivity?
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A. USB
B. PArallel
C. Serial
D. CAT6

Answer: D

NEW QUESTION 327
- (Exam Topic 3)
The network optimization process used to allow reasonable use of data, voice, and video on the same network infrastructure is called:

A. CARP
B. QoS
C. Traffic shaping.
D. Fault tolerance.

Answer: B

NEW QUESTION 328
- (Exam Topic 3)
Kim, a technician, is configuring an 802.11n access point. Other WAPs on the network use 802.11b. Which of the following will Kim have to setup to make sure
these WAPs will be able to communicate?

A. Enable mixed mode
B. Disable SSID
C. Disable encryption
D. Enable `n' only mode

Answer: A

NEW QUESTION 329
- (Exam Topic 3)
Which of the following could be used to estimate RTT across a router?

A. Dig
B. Traceroute
C. Arp
D. Uptime

Answer: B

NEW QUESTION 330
- (Exam Topic 3)
A user reports a network failure on a computer. The technician determines that the computer and NIC are operating properly. Which of the following tools can the
technician use to trace the network cabling back to the punch down block?

A. Protocol analyzer
B. Multimeter
C. Punch down tool
D. Toner probe

Answer: D

NEW QUESTION 331
- (Exam Topic 3)
A network technician is configuring user’s access to a VPN concentrator and has advised to use a protocol that supports encryption over UDP.
Which of the following protocols has the technician MOST likely configured for client use?

A. TFTP
B. DTLS
C. DNS
D. SNMP

Answer: B

NEW QUESTION 332
- (Exam Topic 3)
Which of the following protocols is used for remote management of devices?

A. SNMP
B. TFTP
C. Syslog
D. SMTP

Answer: A
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NEW QUESTION 336
- (Exam Topic 3)
There is suspected virus activity on the network. Which of the following would Lisa, a technician, use to study network traffic?

A. Protocol analyzer
B. Cable tester
C. Cable certifier
D. Environmental monitor

Answer: A

NEW QUESTION 341
- (Exam Topic 3)
A user wants a SOHO network to be protected from unauthorized users hacking their network. Which of the following should be implemented to aide in this
matter?

A. VPN
B. Throughput tester
C. Firewall
D. OC3

Answer: C

NEW QUESTION 342
- (Exam Topic 3)
The software in a virtualized environment that controls resource allocation and allows multiple operating system guests to run on the same physical platform is
known as the:

A. hypervisor.
B. LPAR.
C. broker.
D. VDI.

Answer: A

NEW QUESTION 344
- (Exam Topic 3)
Which of the following occurs when antenna gain is increased on an access point?

A. Connection speeds decrease
B. Throughput decreases
C. Cell size increases
D. Attenuation increases

Answer: C

NEW QUESTION 348
- (Exam Topic 3)
Lisa, a technician, has configured a new switch that is remotely accessed using SSH. The switch is working properly but cannot be accessed remotely. Which of
the following items is MOST likely missing in the configuration?

A. Port speed
B. Cryptokey
C. Data VLAN
D. NAT/PAT

Answer: B

NEW QUESTION 352
- (Exam Topic 3)
Keeping an authoritative and timely record of network devices and their settings is a key activity of which of the following?

A. Project management
B. Quality of service
C. Configuration management
D. Bandwidth shaping

Answer: C

NEW QUESTION 353
- (Exam Topic 3)
A network technician at a small office upgrades the VLAN switch. After the upgrade, a user reports being unable to access network resources. When the
technician checks the switchport, the LED light is not lit. Which of the following should technician check FIRST?

A. The device is using the correct cable type.
B. The switchport is functioning properly.
C. The device is connected to the switch.
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D. The switch is connected to the router.

Answer: C

NEW QUESTION 354
......
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